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QUESTION 1

When using VMware Carbon Black Live Response, what command will show all active processes?
A. dir

B. list

C.ls

D. ps

Correct Answer: B

QUESTION 2

When you share a report in Workspace One Intelligence with a specified user, how is the report shared?
A. Desktop Notification

B. Console Message

C. SMS

D. Email

Correct Answer: D

QUESTION 3

Which option would be considered an example of a Hardware Based Exploit?
A. SQL Injection

B. Social Engineering

C. Jail Breaking

D. Denial of Service

Correct Answer: C

Reference: https://www.kaspersky.com/resource-center/definitions/what-is-jailbreaking

QUESTION 4
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What is one of the limitations of traditional Antivirus when compared to Next Generation Antivirus?
A. Traditional AV does not need a client installed on the machines to function

B. Traditional AV focuses on signature or definition based threats

C. Traditional AV requires integration with a SIEM to use the next generation features

D. Traditional AV does not provide a dashboard

Correct Answer: B

QUESTION 5

Which VMware application enrolls an endpoint into Workspace ONE?
A. Workspace ONE Web

B. CB Defense Sensor

C. VMware Horizon Client

D. Workspace ONE Intelligent Hub

Correct Answer: D
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